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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Answer any five out of eight questions.

3. All questions carry equal marks.

4. . Answers may be written either in English or Hindi;
but the same medium sh\o;ild be used throughout the

' paper.
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1. /(;ﬁxplain the concept of potential pareto efficiency

or Kaldor-Hicks efficiency? Can a move from one

allocation t.Q another be not only Kaldor-Hicks

efficient but also truly pareto efficient? Is the

concept of'Kaldolr-Hi'ck's efficiency consistent

with the goal of wealth maximization? Why or

why not?

(b) What are the general poliéies that can help

address market failure in the presence of severe

informational asymmetries? | (10+5)
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What are the ~1eafnings of the Hadley V. Bax.'endale

case that are us:ed in breach of contract cases?

Specifically, what are the economic. functions that the
Ll : .

Hadley v. Baxendale rule serves? What are the

anticipatory mitigation measures that the rule

recommends to minimize expected damages in the

- event of breach? .

(15)
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(a) A buyer hires a manufacturer to build a specialized

machine for delivery on a certain date. The value

of the machine to the buyer is Rs. 5,000, and the

price, payable on delivery, is Rs. 4,500. Suppose
that after the machine is completed but before

delivery, a second buyer arrives and offers the

manufacturer Rs. 5,500 for it.

(i) From a social perspective, who should get

the machine‘?

(if) Calculate the value of expectation damages

for the firsj buyer and show that it gives

the seller the correct incentives regarding

breaph of the original céntract
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(111) Suppose the first buyer sou
cific performance remedy.

ght and

obtained a spe
How will this affect the ultimate ownership
of the machine compared to expectation

damages?

(b)/fhe value of integration is that the acquiring firm
méy undertake efficiency- enhancing relationship-
‘specific investments that it would not carry out

if it were protected 'only‘by an incomplete contract.

’ExaAmin'e 'thi‘s 'statgment witﬁ ‘the help of an
exémﬁle. Cari thére als'o)be_e‘ln‘ impact‘ on the
incentive of t.heA firfn \that is‘ ac‘Quired to make
relationship-sp‘ecific ihvesfménté‘? (61+9)
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A cement factory pfoduces quantity Q of cement and
pollution is a by-product. The per-ﬁnit price of cement
is Rs. 20. The marginal private. cost of cement

production is 2 + 2Q. Consider the following external

costs under two technologies.

Old technology:— External 'co"st of pollution = 2Q
' >4

New technology:— External cost of pollution = Q

(a) Write the expression for marginal social c'olst for

both the old technology and the new technology.

(b) Assumie that there is no legal compulsion for the

cement factory to take external costs of pollution

into account:

P.T.O.
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(i) What is the factory’s profit maximizing

level of output and the corresponding

profits?

(ii) In which one of the following situations is
society better off - Factory is }producing
cement using old ‘techjhology, or factory is

' producing cement using new technology?
Yc.)u‘can either illustrate mathematically or

with the help of a diagram.
(iii) Does the cement factory have any inCentive

to adopt new technology?

(c) Assume now that there is a legal compulsion for
the cement factory to.take external costs of

pollution into account:
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(i) What are the profit maximizing output
levels for the factory under the two

technologies? Are these socially efficient?

(i) What are the profits of cement factory
under old technology and new technology?
- Does the faQtOry have any incentive to

adopt new technology? (15)
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5 In the context of the inherent vulnerability of eminent

domain, answer the folldwing ;

(a) Can highef compensation reduce litigation for

compensation?

~ (b) Can higher compensation ensure that takings are

b in the public interest?

P.T.O.
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(¢) Can less than full compensation be justified on the

grounds of efficiency?

(d) Can judicial review of government decisions

improve the use of land acquisition laws?

(15)

ugaié%§a“éﬁ;aaﬁﬂ%a‘ﬁzﬁnz%“éaﬁ“ﬂi1ﬁnaﬁ?ﬁaa'aﬂ:3?ﬂ
A
(=) EF“”3%ﬂ”ﬂ3ﬁaﬁﬂ;2ﬁﬂﬁﬁ%”é?f??”gaﬁﬁhmﬁﬁ‘&ﬁ?&ﬂftﬁt
qFAT 27 ' | |

(@) =1 Ioa A 4F GRREE FC awar 2 T e

Eﬁﬁﬁ'ﬂﬁﬁaﬁﬁs ﬁ?ﬁfﬁ'%? '

\

(1) w @ ananjtnjtnﬁ 3ﬁﬂﬁﬁ§ if‘aww'aﬁ-:ﬁ%ﬁg

BE'W'\HTW%?

4

@) Wmmﬁwm%wﬁm



1503 | | 13

6. What constitutes negligence under the reasonable
person standard? Discuss the types of inefficiencies
that result from setting a- single standard x* when
injurers differ in their costs of care. Under what |

conditions here is a negligence rule in such a setting

equivalent to strict liability? (1)
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74 Q/Sﬁppbse a plaintiff and defendant_ estimate the
same probability of plaintiff victory at trial, P, but

disagree about the amount that a victorious plaintiff

P.T.O.
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will recover. The plaintiff estimates this amoun
to be J 'while the defendant estimates it to be J,.

Let C and C, be the costs of trial for the plaintiff

and defendant, respectively. Derive the conditions

for settlement and trial. What must be truc of J,p

and Jd_ for a trial to occur?

(b) /hat is the doctrine of fair use in copyright

law? What is its., role in maintaining the proper
balance between incentiveé to pr0d~uce‘ new
ideas and the benefits of making them widely
available? Explain with the heip of an example.

(5+10)
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8. Write short notes on any two of the following :

-

e

S;%"’Hand'Rule in Tort L'aw
Q;)%ommercial Impracticability in Contract Law

(c) Doctrine of First Possession in Property Law

(7.5%2)
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